![](_page_0_Picture_0.jpeg)

MATHEMATICAL INSTITUTE "O.MAYER"

IASI BRANCH OF THE ROMANIAN ACADEMY

#### **PREPRINT SERIES OF THE "OCTAV MAYER" INSTITUTE OF MATHEMATICS**

Title:

## A Trotter type result for the stochastic porous media equations

Author:

**Ioana Ciotir** Department of Mathematics, Faculty of Economics and Business Administration, "Al. I. Cuza" University, Iaşi, Romania

Nr. 03-2009

ISSN 1841 - 914X

INSTITUTE OF MATHEMATICS "OCTAV MAYER" ROMANIAN ACADEMY, IAŞI BRANCH Bd. Carol I nr. 10, 700506 IAŞI, ROMANIA

http://acad-is.tuiasi.ro/Institute/preprint.php?cod\_ic=13

# A Trotter type result for the stochastic porous media equations

Ioana Ciotir

Department of Mathematics, Faculty of Economics and Business Administration, "Al. I. Cuza" University, Iaşi, Romania e-mail: ioana.ciotir@feaa.uaic.ro

#### Abstract

This paper proves the continuous dependence with respect to diffusivity of the solutions to the stochastic porous media equations with noncoercive monotone diffusivity function and multiplicative noise.

2000 Mathematics Subject Classification: 60H15, 47H05.

Key words and phrases: stochastic porous media equations, maximal monotone graphs, Yosida approximation, Wiener process.

#### 1 Introduction

Let  $\mathcal{O}$  be an open bounded domain of  $\mathbb{R}^d$   $(1 \leq d \leq 3)$  with smooth boundary  $\partial \mathcal{O}$ . We also consider the stochastic partial differential equations

(1) 
$$\begin{cases} dX(t) - \Delta \Psi(X(t)) dt \ni \sigma(X(t)) dW(t), & \text{in } (0,T) \times \mathcal{O} \\ \Psi(X(t)) \ni 0, & \text{on } (0,T) \times \partial \mathcal{O} \\ X(0) = x, & \text{in } \mathcal{O} \end{cases}$$

where x is the initial data and  $\Psi : \mathbb{R} \to 2^{\mathbb{R}}$  is a maximal monotone (possibly multivalued) graph with polynomial growth and  $\sigma(X)$  is defined by

(2) 
$$\sigma(x) h = \sum_{k=1}^{\infty} \mu_k(h, e_k) x e_k, \quad \forall x \in H^{-1}(\mathcal{O}), \quad \forall h \in L^2(\mathcal{O}),$$

where (.,.) is the scalar product in  $L^{2}(\mathcal{O})$ .

We note that

$$\sigma\left(X\right)dW = \sum_{k=1}^{\infty} \mu_k X d\beta_k e_k, \qquad \forall \quad t \ge 0,$$

which is linear in X. Here  $\{e_k\}$  is an orthonormal basis in  $L^2(\mathcal{O})$ ,  $\{\mu_k\}$  is a sequence of positive numbers and  $\{\beta_k\}$  a sequence of independent standard Brownian motion on a filtered probability space  $\left(\Omega, \mathcal{F}, \{\mathcal{F}_t\}_{t\geq 0}, \mathbb{P}\right)$ .

In this work we shall suppose that the sequence  $\{\mu_k\}$  is such that

(3) 
$$\sum_{k=1}^{\infty} \mu_k^2 \lambda_k^2 = C < \infty,$$

where  $\lambda_k$  are the eigenvalues of the Laplace operator  $-\Delta$  in  $\mathcal{O}$  with Dirichlet boundary conditions. Recall that the operator  $A: D(A) \subset H^{-1}(\mathcal{O}) \to H^{-1}(\mathcal{O})$  is defined by  $Ax = -\Delta \Psi(x)$  where

$$D(A) = \left\{ x \in H^{-1}(\mathcal{O}) \cap L^{1}(\mathcal{O}) : \Psi(x) \in H^{1}_{0}(\mathcal{O}) \right\}.$$

The Sobolev space  $H^{-1}(\mathcal{O})$  (the dual of  $H^{1}_{0}(\mathcal{O})$ ) is endowed with the norm

$$|x|_{H^{-1}(\mathcal{O})} = |x|_{-1} = \left| (-\Delta)^{-1} x \right|_{H^{1}_{0}(\mathcal{O})}$$

(Here  $(-\Delta)^{-1}x = y$  is the solution to Dirichlet problem  $-\Delta y = x$  in  $\mathcal{O}, y \in H^1_0(\mathcal{O})$ ).

The scalar product in  $H^{-1}(\mathcal{O})$  is given by

$$\langle x, z \rangle_{-1} = \int_{\mathcal{O}} (-\Delta)^{-1} xz d\xi, \qquad \forall x, z \in H_0^1(\mathcal{O}).$$

We note that since  $d \leq 3$  we have by Sobolev embedding theorem

$$\left|e_{k}\right|_{\infty} \leq C \left|e_{k}\right|_{H^{2}(\mathcal{O})} \leq C \left|\Delta e_{k}\right|_{L^{2}(\mathcal{O})} \leq C\lambda_{k}$$

and for some constant  $c_1 > 0$ 

$$\sum_{k=1}^{\infty} \mu_k^2 |xe_k|_{-1}^2 \le c_1 \sum_{k=1}^{\infty} \mu_k^2 \lambda_k^2 |x|_{-1}^2 \le C_1 |x|_{-1}^2, \quad \forall \ x \in H^{-1}(\mathcal{O}).$$

We obtain that  $\sigma(x)$  is a Hilbert Schmidt from  $L^{2}(\mathcal{O})$  to  $H^{-1}(\mathcal{O})$ . Note that since  $\sigma$  is linear we have that  $x \to \sigma(x)$  is Lipschitz from  $H^{-1}(\mathcal{O})$  to  $L_{2}(L^{2}(\mathcal{O}), H^{-1}(\mathcal{O}))$ .

Recall from [9] the following definition:

**Definition 1** Let  $x \in H^{-1}(\mathcal{O})$ . An  $H^{-1}(\mathcal{O})$  valued continuous  $\mathcal{F}_t$  – adapted process X = X(t, x) is called a solution to (1) on [0, T] if

$$X \in L^{p}\left(\Omega \times (0,T) \times \mathcal{O}\right) \cap L^{2}\left(0,T;L^{2}\left(\Omega,H^{-1}\left(\mathcal{O}\right)\right)\right)$$

and there exists  $\eta \in L^{p/m} (\Omega \times (0,T) \times \mathcal{O})$  such that  $\mathbb{P}-a.s.$ (4)

$$\begin{split} \left\langle X\left(t\right),e_{j}\right\rangle_{2} &= \left\langle x,e_{j}\right\rangle_{2} + \int_{0}^{t}\int_{\mathcal{O}}\eta\left(s,\xi\right)\Delta e_{j}\left(\xi\right)d\xi ds \\ &+ \sum_{k=1}^{\infty}\mu_{k}\int_{0}^{t}\left\langle X\left(s\right)e_{k},e_{j}\right\rangle_{2}d\beta_{k}\left(s\right), \quad \forall \ j\in\mathbb{N}, \quad t\in\left[0,T\right], \end{split}$$

and

$$\eta \in \Psi(X)$$
, a.e. in  $\Omega \times (0,T) \times \mathcal{O}$ .

Here *m* is the exponent arising in the assumption (6) and  $\{e_k\}$  is the above orthonormal basis in  $L^2(\mathcal{O})$ . Taking into account that  $-\Delta e_k = \lambda e_k$  in  $\mathcal{O}$  we may equivalently write (4) as follows

$$\langle X(t), e_j \rangle_{-1} = \langle x, e_j \rangle_2 - \int_0^t \int_{\mathcal{O}} \eta(s, \xi) e_j(\xi) d\xi ds + \sum_{k=1}^\infty \mu_k \int_0^t \langle X(s) e_k, e_j \rangle_{-1} d\beta_k(s), \quad \forall \ j \in \mathbb{N}, \quad t \in [0, T].$$

We know also from [9] that for  $\Psi$  a maximal monotone multivalued function from  $\mathbb{R}$  into  $2^{\mathbb{R}}$  such that  $0 \in \Psi(0)$  and

 $\sup\left\{\left|\theta\right|:\theta\in\Psi\left(r\right)\right\}\leq C\left(1+\left|r\right|^{m}\right),\qquad\forall r\in\mathbb{R}$ 

under condition (3), for each  $x \in L^{p}(\mathcal{O})$ ,  $p \geq \max\{2m, 4\}$  there is a unique nonnegative solution  $X \in L^{\infty}(0,T; L^{p}(\Omega; L^{p}(\mathcal{O})))$  to the equation (1).

In this work we are interested in the continuous dependence of the solution as function of  $\Psi$  for the stochastic porous media equation (1). This problem is relevant in asymptotic analysis and approximation of stochastic porous media equations.

To this propose we consider a family of maximal monotone graphs  $\{\Psi^{\alpha}\}_{\alpha>0}$ ,  $\Psi$  and denote  $A^{\alpha} = -\Delta \Psi^{\alpha}(x)$ , with

 $D(A^{\alpha}) = \left\{ x \in H^{-1}(\mathcal{O}) \cap L^{1}(\mathcal{O}) : \Psi^{\alpha}(x) \in H^{1}_{0}(\mathcal{O}) \right\}.$ 

Suppose that the following assumptions are satisfied:

 $\mathbf{H}_1$  There exist some constants  $m \geq 1$  and C independent of  $\alpha$  such that

(5) 
$$\sup\left\{\left|\theta\right|:\theta\in\Psi^{\alpha}\left(r\right)\right\}\leq C\left(1+\left|r\right|^{m}\right),\quad\forall\quad r\in\mathbb{R}$$

and

(6) 
$$\sup\left\{\left|\theta\right|:\theta\in\Psi\left(r\right)\right\}\leq C\left(1+\left|r\right|^{m}\right),\qquad\forall r\in\mathbb{R}.$$

 $\mathbf{H}_{2}$  For all  $\alpha > 0$  we have  $0 \in \Psi^{\alpha}(0)$  and  $0 \in \Psi(0)$ .

 $\mathbf{H}_3$  We have  $\Psi^{\alpha} \to \Psi$  as  $\alpha \to 0$  in the graph sense, i. e.,

$$(1 + \lambda \Psi^{\alpha})^{-1} x \longrightarrow (1 + \lambda \Psi)^{-1} x, \quad \forall \lambda > 0, \quad \forall x \in \mathbb{R}$$

for  $\alpha \to 0$ .

The main result is stated and proved in Section 2 and some examples are given in Section 3.

The following notations will be used throughout this paper.

 $L^{p}(\mathcal{O}), \quad p \geq 1$ , is the usual space of p-integrable functions with norm denoted by  $|\cdot|_{p}$ . The scalar product in  $L^{2}(\mathcal{O})$  and the duality induced by the space  $L^{2}(\mathcal{O})$  will be denoted by  $\langle ., . \rangle_{2}$ .

For  $p, q \in [1, +\infty]$  by  $L^q_W(0, T; L^p(\Omega; H))$  (*H* a Hilbert space) we shall denote the space of all q-integrable processes  $u : [0, T] \to L^p(\Omega; H)$  which are adapted to the filtration  $\{\mathcal{F}_t\}_{t>0}$ .

By  $C_W([0,T]; L^2(\Omega; H))$  we shall denote the space of all *H*-valued adapted processes which are mean square continuous (see [12], [13]).

This space is endowed with the norm

$$\|X\|_{C_{W}([0,T];L^{2}(\Omega,\mathcal{F},\mathbb{P};H))}^{2} = \sup_{t \in [0,T]} \mathbb{E} |X(t)|_{H}^{2}$$

The main result (Theorem 2 below) amounts to saying that if  $\Psi^{\alpha} \to \Psi$ , for  $\alpha \to 0$ , then the solution  $X^{\alpha}$  to (7) is convergent to the solution X to (1) and this may be seen as a Trotter type result for equation (1) (see e. g. [1], [3], [11] for corresponding deterministic results).

The Theorem 2 below is the main result of this paper.

### 2 The main result

**Theorem 2** Assume that  $H_1$ ,  $H_2$ ,  $H_3$  and (3) hold. For each  $\alpha$  consider the corresponding equations

(7) 
$$\begin{cases} dX^{\alpha}(t) - \Delta \Psi^{\alpha}(X^{\alpha}(t)) dt \ni \sigma(X^{\alpha}(t)) dW(t), & in \quad (0,T) \times \mathcal{O} \\ \Psi(X(t)) \ni 0, & on \quad (0,T) \times \partial \mathcal{O} \\ X(0) = x, & in \quad \mathcal{O} \end{cases}$$

Then for each  $x \in L^p(\mathcal{O})$ , the corresponding solution  $X^{\alpha}$  to (7) is convergent in

 $C_W\left([0,T]; L^2\left(\Omega, \mathcal{F}, \mathbb{P}; H^{-1}\left(\mathcal{O}\right)\right)\right)$ 

for  $\alpha \to 0$  to the solution X to (1), i. e.,

$$\lim_{\alpha \to 0} \mathbb{E} \left| X^{\alpha} \left( t \right) - X \left( t \right) \right|_{H^{-1}(\mathcal{O})}^{2} = 0$$

uniformly on [0,T].

**Proof.** Let  $X_{\lambda}$  be the solution to approximating equation

(8) 
$$\begin{cases} dX_{\lambda}(t) - \Delta \left(\Psi_{\lambda}(X_{\lambda}(t)) + \lambda X_{\lambda}(t)\right) dt = \sigma \left(X_{\lambda}(t)\right) dW(t), & \text{in } (0,T) \times \mathcal{O} \\ X_{\lambda}(0) = x, & \text{in } \mathcal{O} \end{cases}$$

where  $\Psi_{\lambda}$  is the Yosida approximation of  $\Psi$ , i. e.,

(9) 
$$\Psi_{\lambda}(x) = \frac{1}{\lambda} \left( x - J_{\lambda}(x) \right) \in \Psi \left( \left( 1 + \lambda \Psi \right)^{-1}(x) \right), \quad \lambda > 0, \ x \in \mathbb{R},$$

and  $J_{\lambda}(x) = (1 + \lambda \Psi)^{-1}(x)$ . Note that  $x \mapsto \Psi_{\lambda}(x) + \lambda x$  is strictly monotonically increasing. Denote  $\begin{pmatrix} A_{\lambda}x = -\Delta(\Psi_{\lambda}(x) + \lambda x) \end{pmatrix}$ 

$$\begin{cases} A_{\lambda}x = -\Delta \left(\Psi_{\lambda}\left(x\right) + \lambda x\right), \\ D\left(A_{\lambda}\right) = \left\{x \in H^{-1}\left(\mathcal{O}\right) \cap L^{1}\left(\mathcal{O}\right) : \Psi_{\lambda}\left(x\right) + \lambda x \in H^{1}_{0}\left(\mathcal{O}\right)\right\}. \end{cases}$$

Consider also  $X^{\alpha}_{\lambda}$  the corresponding solution to equation

(10) 
$$\begin{cases} dX_{\lambda}^{\alpha}(t) - \Delta \left(\Psi_{\lambda}^{\alpha}(X_{\lambda}^{\alpha}(t)) + \lambda X_{\lambda}^{\alpha}(t)\right) dt = \sigma \left(X_{\lambda}^{\alpha}(t)\right) dW(t), & \text{in } (0,T) \times \mathcal{O} \\ X_{\lambda}^{\alpha}(0) = x, & \text{in } \mathcal{O} \end{cases}$$

where  $\Psi^{\alpha}_{\lambda}$  is the Yosida approximation of  $\Psi^{\alpha}$  for each  $\alpha$ .

$$\begin{cases} A_{\lambda}^{\alpha}x = -\Delta\left(\Psi_{\lambda}^{\alpha}\left(x\right) + \lambda x\right);\\ D\left(A_{\lambda}^{\alpha}\right) = \left\{x \in H^{-1}\left(\mathcal{O}\right) \cap L^{1}\left(\mathcal{O}\right) : \Psi_{\lambda}^{\alpha}\left(x\right) + \lambda x \in H_{0}^{1}\left(\mathcal{O}\right)\right\}\end{cases}$$

We have

$$\mathbb{E}\left|X^{\alpha}\left(t\right)-X\left(t\right)\right|_{-1}^{2} \leq 3\left(\mathbb{E}\left|X^{\alpha}\left(t\right)-X_{\lambda}^{\alpha}\left(t\right)\right|_{-1}^{2}+\mathbb{E}\left|X_{\lambda}^{\alpha}\left(t\right)-X_{\lambda}\left(t\right)\right|_{-1}^{2}\right)\right.$$
$$+\mathbb{E}\left|X_{\lambda}\left(t\right)-X\left(t\right)\right|_{-1}^{2}\right).$$

By (6) we know from [[9], (3.14)] that for  $\lambda \to 0$  we have

(11) 
$$(X_{\lambda} - X) \to 0 \quad \text{strongly in} \quad L^2\left(\Omega; C\left([0, T]; H^{-1}(\mathcal{O})\right)\right).$$

We shall prove now that as  $\lambda \to 0$  we have

(12) 
$$(X_{\lambda}^{\alpha} - X^{\alpha}) \to 0 \text{ strongly in } L^{2}\left(\Omega; C\left([0, T]; H^{-1}(\mathcal{O})\right)\right)$$

uniformly in  $\alpha > 0$ .

Consider the section

$$\eta^{\alpha} \in \Psi^{\alpha}\left(X^{\alpha}\right), \quad a.e. \quad in \quad \Omega \times (0,T) \times \mathcal{O}$$

which arises in [7].

Using Ito's formula for equation

$$d\left(X^{\alpha}\left(t\right) - X^{\alpha}_{\lambda}\left(t\right)\right) - \Delta\left(\eta^{\alpha}\left(t\right) - \Psi^{\alpha}_{\lambda}\left(X^{\alpha}_{\lambda}\left(t\right)\right) - \lambda X^{\alpha}_{\lambda}\left(t\right)\right)dt = \sigma\left(X^{\alpha}\left(t\right) - X^{\alpha}_{\lambda}\left(t\right)\right)dW\left(t\right)$$

with  $\varphi(t,x) = |x|_{-1}^2 e^{-\varepsilon t}$ , we get that

$$\begin{split} \frac{1}{2} \left| X^{\alpha}\left(t\right) - X^{\alpha}_{\lambda}\left(t\right) \right|_{-1}^{2} e^{-\varepsilon t} + \int_{0}^{t} \int_{\mathcal{O}} \left[ \eta^{\alpha}\left(s\right) - \Psi^{\alpha}_{\lambda}\left(X^{\alpha}_{\lambda}\left(s\right)\right) - \lambda X^{\alpha}_{\lambda}\left(s\right) \right] \left( X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right) \right) e^{-\varepsilon s} d\xi ds \\ &\leq \int_{0}^{t} e^{-\varepsilon s} \left\langle X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right), \sigma\left(X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right)\right) dW\left(s\right) \right\rangle_{-1} \\ &\quad + \left( -\frac{1}{2}\varepsilon \right) \left( \int_{0}^{t} \left| X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right) \right|_{-1}^{2} e^{-\varepsilon s} ds \right) \\ &\quad + c \sum_{k=1}^{\infty} \mu_{k}^{2} \lambda_{k}^{2} \int_{0}^{t} \left| X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right) \right|_{-1}^{2} e^{-\varepsilon s} ds, \quad \mathbb{P}-a.s.. \end{split}$$

By (9) we have  $x = \lambda \Psi_{\lambda}^{\alpha}(x) + (1 + \lambda \Psi^{\alpha})^{-1}(x)$  and this yields

$$\begin{split} & \left[\eta^{\alpha}\left(s\right) - \Psi_{\lambda}^{\alpha}\left(X_{\lambda}^{\alpha}\left(s\right)\right) - \lambda X_{\lambda}^{\alpha}\left(s\right)\right]\left(X^{\alpha}\left(s\right) - X_{\lambda}^{\alpha}\left(s\right)\right) \\ & = \left(\eta^{\alpha}\left(s\right) - \Psi^{\alpha}\left(\left(1 + \lambda\Psi^{\alpha}\right)^{-1}X_{\lambda}\left(s\right)\right)\right)\left(X^{\alpha}\left(s\right) - \left(1 + \lambda\Psi^{\alpha}\right)^{-1}X_{\lambda}^{\alpha}\left(s\right)\right) \\ & \quad - \lambda\left(\eta^{\alpha}\left(s\right) - \Psi_{\lambda}^{\alpha}\left(X_{\lambda}^{\alpha}\left(s\right)\right)\right)\Psi_{\lambda}^{\alpha}\left(X_{\lambda}^{\alpha}\left(s\right)\right) - \lambda X_{\lambda}^{\alpha}\left(s\right)\left(X^{\alpha}\left(s\right) - X_{\lambda}^{\alpha}\left(s\right)\right) \\ & \geq \lambda\left(\left|\Psi_{\lambda}^{\alpha}\left(X_{\lambda}^{\alpha}\left(s\right)\right)\right|^{2} - \eta^{\alpha}\left(s\right)\Psi_{\lambda}^{\alpha}\left(X_{\lambda}^{\alpha}\left(s\right)\right)\right) + \lambda\left(\left|X_{\lambda}^{\alpha}\left(s\right)\right|^{2} - X_{\lambda}^{\alpha}\left(s\right)X^{\alpha}\left(s\right)\right) \\ & \geq -\frac{\lambda}{4}\left|\eta^{\alpha}\left(s\right)\right|^{2} - \frac{\lambda}{4}\left|X^{\alpha}\left(s\right)\right|^{2}, \quad \mathbb{P}-a.s. \end{split}$$

using the monotonicity of  $\Psi^{\alpha}$  and  $\Psi^{\alpha}_{\lambda}(x) \in \Psi^{\alpha}\left(\left(1 + \lambda\Psi^{\alpha}\right)^{-1}(x)\right)$  for all  $x \in \mathbb{R}$ . Hence for  $\varepsilon > 0$  large enough we obtain for all  $\lambda \in (0, 1)$  and  $t \in [0, T]$ 

$$(13) \qquad \frac{1}{2} \left| X^{\alpha}\left(t\right) - X^{\alpha}_{\lambda}\left(t\right) \right|_{-1}^{2} e^{-\varepsilon t} \leq \frac{\lambda}{4} \int_{0}^{t} \int_{\mathcal{O}} \left( \left| \eta^{\alpha}\left(s\right) \right|^{2} + \left| X^{\alpha}\left(s\right) \right|^{2} \right) d\xi ds \\ + \int_{0}^{t} e^{-\varepsilon s} \left\langle X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right), \sigma\left(X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right)\right) dW\left(s\right) \right\rangle_{-1}.$$

We get for  $\varepsilon > 0$ , for all  $\lambda \in (0, 1)$ , and  $r \in [0, T]$  that

(14) 
$$\frac{1}{4}\mathbb{E}\sup_{t\in[0,r]}|X^{\alpha}(s) - X^{\alpha}_{\lambda}(s)|^{2}_{-1}e^{-\varepsilon t} \leq \frac{\lambda}{4}\mathbb{E}\int_{0}^{r}\int_{\mathcal{O}}\left(|\eta^{\alpha}(s)|^{2} + |X^{\alpha}(s)|^{2}\right)d\xi ds$$
$$+ c\mathbb{E}\left(\int_{0}^{r}|X^{\alpha}(s) - X^{\alpha}_{\lambda}(s)|^{2}_{-1}e^{-\varepsilon s}ds\right)$$

since by the Burkholder-Davis-Gundy inequality, we have

$$\begin{split} &\int_{0}^{t} e^{-\varepsilon s} \left\langle X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right), \sigma\left(X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right)\right) dW\left(s\right)\right\rangle_{-1} \\ &\leq \mathbb{E} \left( c \int_{0}^{r} \left| X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right) \right|_{-1}^{4} e^{-2\varepsilon s} ds \right)^{\frac{1}{2}} \\ &\leq \mathbb{E} \sup_{s \in [0,r]} \left| X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right) \right|_{-1} e^{-\varepsilon s/2} \left( c \int_{0}^{r} \left| X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right) \right|_{-1}^{2} e^{-\varepsilon s} ds \right)^{1/2} \\ &\leq \frac{1}{4} \mathbb{E} \sup_{s \in [0,r]} \left| X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right) \right|_{-1}^{2} e^{-\varepsilon s} + c \mathbb{E} \left( \int_{0}^{r} \left| X^{\alpha}\left(s\right) - X^{\alpha}_{\lambda}\left(s\right) \right|_{-1}^{2} e^{-\varepsilon s} ds \right). \end{split}$$

By the hypothesis  $\mathbf{H}_{1}$  we have for all  $x \in \mathbb{R}$  and all  $\eta^{\alpha} \in \Psi^{\alpha}(x)$ 

$$|\eta^{\alpha}| \le C \left(1 + |x|^m\right)$$

Consequently for  $\eta^{\alpha} \in \Psi^{\alpha}(X^{\alpha})$ , *a.e.* in  $\Omega \times (0,T) \times \mathcal{O}$  we get that

$$(15) \qquad \frac{\lambda}{4}\mathbb{E}\int_{0}^{t}\int_{\mathcal{O}}\left(\left|\eta^{\alpha}\left(s\right)\right|^{2}+\left|X^{\alpha}\left(s\right)\right|^{2}\right)d\xi ds \leq \frac{\lambda}{4}C\mathbb{E}\int_{0}^{t}\int_{\mathcal{O}}\left(\left|\left(1+\left|X^{\alpha}\left(s\right)\right|^{m}\right)\right|^{2}+\left|X^{\alpha}\left(s\right)\right|^{2}\right)d\xi ds \\ \leq \frac{\lambda}{4}C\left(1+\mathbb{E}\int_{0}^{t}\int_{\mathcal{O}}\left|X^{\alpha}\left(s\right)\right|^{p}d\xi ds\right)$$

since  $p \ge \max\{2m, 2\}$  and C is independent of  $\lambda$  and  $\alpha$ .

We prove that

(16) 
$$\operatorname{ess\,sup}_{t\in[0,T]} \mathbb{E} \left| X_{\lambda}^{\alpha}\left(t,x\right) \right|_{p}^{p} \leq \exp\left(c\frac{p-1}{2}\right) \left|x\right|_{p}^{p} \quad \forall \quad \lambda > 0, \quad \alpha > 0,$$

where c > 0 is independent of  $t, x, \lambda$  and  $\alpha$ .

Note that relation (16) is similar to Lemma 3.1 from [9], but in the present paper we are interested to get c independent of  $\alpha$ .

Indeed, for  $A^{\alpha}_{\lambda}x = -\Delta \left(\Psi^{\alpha}_{\lambda}(x) + \lambda x\right)$ , we take  $(A^{\alpha}_{\lambda})_{\varepsilon}$  the Yosida approximation of  $A^{\alpha}_{\lambda}$ ,

$$(A_{\lambda}^{\alpha})_{\varepsilon} = \frac{1}{\varepsilon} \left( I - \left( I + \varepsilon A_{\lambda}^{\alpha} \right)^{-1} \right), \quad \varepsilon > 0$$

and we apply the Ito formula to

(17) 
$$d(X_{\lambda}^{\alpha})_{\varepsilon}(t) + (A_{\lambda}^{\alpha})_{\varepsilon}(X_{\lambda}^{\alpha})_{\varepsilon}(t) dt = \sigma((X_{\lambda}^{\alpha})_{\varepsilon}(t)) dW(t)$$

for the function  $\varphi(x) = \frac{1}{p} |x|_p^p$ . (More precisely we first apply Ito's formula to (17) for the function  $\varphi_{\gamma}(x) = \frac{1}{p} \left| (1 - \gamma \Delta)^{-1} x \right|_p^p$ ,  $\gamma > 0$ , and the we let  $\gamma \to 0$ . For more details see [[6], Lemma 3.5]). We get

(18) 
$$\mathbb{E}\varphi\left((X_{\lambda}^{\alpha})_{\varepsilon}(t)\right) + \mathbb{E}\int_{0}^{t} \left\langle \left(A_{\lambda}^{\alpha}\right)_{\varepsilon}\left((X_{\lambda}^{\alpha})_{\varepsilon}(s)\right), \left|\left(X_{\lambda}^{\alpha}\right)_{\varepsilon}(s)\right|^{p-2}\left(X_{\lambda}^{\alpha}\right)_{\varepsilon}(s)\right\rangle_{2} ds \\ = \varphi\left(x\right) + \frac{p-1}{2}\sum_{k=1}^{\infty}\mu_{k}^{2}\mathbb{E}\int_{0}^{t}\int_{\mathcal{O}}\left|\left(X_{\lambda}^{\alpha}\right)_{\varepsilon}(s)\right|^{p-2}\left|\left(X_{\lambda}^{\alpha}\right)_{\varepsilon}(s)e_{k}\right|^{2}d\xi ds \\ \leq \varphi\left(x\right) + \frac{p-1}{2}c\mathbb{E}\int_{0}^{t}\int_{\mathcal{O}}\left|\left(X_{\lambda}^{\alpha}\right)_{\varepsilon}(s)\right|^{p}d\xi ds.$$

By [[6], (3.25)] , we have  $\left|(Y^\alpha_\lambda)_\varepsilon\right|_p \leq \left|(X^\alpha_\lambda)_\varepsilon\right|_p$  and this leads to

$$\left\langle \left(A_{\lambda}^{\alpha}\right)_{\varepsilon} \left(X_{\lambda}^{\alpha}\right)_{\varepsilon}, \left|\left(X_{\lambda}^{\alpha}\right)_{\varepsilon}\right|^{p-2} \left(X_{\lambda}^{\alpha}\right)_{\varepsilon}\right\rangle_{2} = \frac{1}{\varepsilon} \left\langle \left(X_{\lambda}^{\alpha}\right)_{\varepsilon} - \left(Y_{\lambda}^{\alpha}\right)_{\varepsilon}, \left|\left(X_{\lambda}^{\alpha}\right)_{\varepsilon}\right|^{p-2} \left(X_{\lambda}^{\alpha}\right)_{\varepsilon}\right\rangle_{2} \ge 0$$

where  $(Y_{\lambda}^{\alpha})_{\varepsilon} = (I + \varepsilon A_{\lambda}^{\alpha})^{-1} (X_{\lambda}^{\alpha})_{\varepsilon}$ . On another hand we have from [[6], Lemma 3.4]

$$\begin{array}{ll} (X^{\alpha}_{\lambda})_{\varepsilon} \to X^{\alpha}_{\lambda} \quad \text{strongly in} \quad L^{\infty}_{W}\left(0,T;L^{2}\left(\Omega;H^{-1}\left(\mathcal{O}\right)\right)\right), \\ (X^{\alpha}_{\lambda})_{\varepsilon} \to X^{\alpha}_{\lambda} \quad \text{weak}^{*} \quad \text{in} \quad L^{\infty}_{W}\left(0,T;L^{p}\left(\Omega;L^{p}\left(\mathcal{O}\right)\right)\right). \end{array}$$

Using Gronwall's lemma in (18) and letting  $\varepsilon$  tend to 0, we obtain (16) with c > 0 is independent of  $t, x, \lambda$  and  $\alpha$ .

From [[9], (3.8)] we have for  $\lambda \to 0$ 

$$X_{\lambda}^{\alpha} \to X^{\alpha} \quad \text{weak}^* \quad \text{in } L^{\infty}\left(0, T; L^p\left(\Omega; L^p\left(\mathcal{O}\right)\right)\right)$$

Using [[10], Proposition III.12.] this yields

$$\begin{aligned} \underset{t \in [0,T]}{\operatorname{ess\,sup}\mathbb{E}} \left| X^{\alpha}\left(t,x\right) \right|_{p}^{p} &\leq \quad \liminf_{\lambda} \left( \underset{t \in [0,T]}{\operatorname{ess\,sup}\mathbb{E}} \left| X^{\alpha}_{\lambda}\left(t,x\right) \right|_{p}^{p} \right) \\ &\leq \exp\left( c \frac{p-1}{2} \right) \left| x \right|_{p}^{p} \leq C_{1} \left| x \right|_{p}^{p} \end{aligned}$$

with  $C_1 > 0$  is independent of  $t, x, \lambda$  and  $\alpha$ .

Coming back to (15) we get that

$$\begin{split} \frac{\lambda}{4} \mathbb{E} \int_{0}^{t} \int_{\mathcal{O}} \left( \left| \eta^{\alpha}\left(s\right) \right|^{2} + \left| X^{\alpha}\left(s\right) \right|^{2} \right) d\xi ds &\leq \frac{\lambda}{4} C \left( 1 + \mathbb{E} \int_{0}^{t} \int_{\mathcal{O}} \left| X^{\alpha}\left(s\right) \right|^{p} d\xi ds \right) \\ &\leq \frac{\lambda}{4} C_{2} \left( 1 + \underset{t \in [0,T]}{\operatorname{ess sup}} \mathbb{E} \left| X^{\alpha}\left(t,x\right) \right|_{p}^{p} \right) \\ &\leq \frac{\lambda}{4} C_{3} \left( 1 + \left| x \right|_{p}^{p} \right) \end{split}$$

with  $C_3 > 0$  is independent of  $t, x, \lambda$  and  $\alpha$ .

Using Gronwall's lemma in (14) we get that

$$(X_{\lambda}^{\alpha} - X^{\alpha}) \to 0 \quad \text{strongly in} \quad L^2(\Omega; C([0, T]; H^{-1}(\mathcal{O})))$$

for  $\lambda \to 0$  uniformly in  $\alpha > 0$ .

In order to complete the proof it suffices to show that

$$(X_{\lambda}^{\alpha} - X_{\lambda}) \to 0 \quad \text{strongly in} \quad L^2\left(\Omega; C\left([0, T]; H^{-1}\left(\mathcal{O}\right)\right)\right), \quad \forall \lambda > 0.$$

as  $\alpha \to 0$ .

Applying Ito's formula in equation

$$d\left(X_{\lambda}^{\alpha}\left(t\right) - X_{\lambda}\left(t\right)\right) - \Delta\left(\Psi_{\lambda}^{\alpha}\left(X_{\lambda}^{\alpha}\left(t\right)\right) + \lambda X_{\lambda}^{\alpha}\left(t\right) - \Psi_{\lambda}\left(X_{\lambda}\left(t\right)\right) - \lambda X_{\lambda}\left(t\right)\right)dt$$
  
=  $\sigma\left(X_{\lambda}^{\alpha}\left(t\right) - X_{\lambda}\left(t\right)\right)dW\left(t\right)$ 

with  $\varphi(t,x) = |x|_{-1}^2 e^{-\varepsilon t}$  we have

$$\frac{1}{2} |X_{\lambda}^{\alpha}(t) - X_{\lambda}(t)|_{-1}^{2} e^{-\varepsilon t} + \int_{0}^{t} \int_{\mathcal{O}} \left[ \Psi_{\lambda}^{\alpha}(X_{\lambda}^{\alpha}(s)) - \Psi_{\lambda}(X_{\lambda}(s)) \right] (X_{\lambda}^{\alpha}(s) - X_{\lambda}(s)) e^{-\varepsilon s} d\xi ds 
+ \lambda \int_{0}^{t} \int_{\mathcal{O}} |X_{\lambda}^{\alpha}(s) - X_{\lambda}(s)|^{2} e^{-\varepsilon s} d\xi ds 
\leq \int_{0}^{t} e^{-\varepsilon s} \langle X_{\lambda}^{\alpha}(s) - X_{\lambda}(s), \sigma(X_{\lambda}^{\alpha}(s) - X_{\lambda}(s)) dW(s) \rangle_{-1} 
+ \left( -\frac{1}{2} \varepsilon \right) \left( \int_{0}^{t} |X_{\lambda}^{\alpha}(s) - X_{\lambda}(s)|^{2}_{-1} e^{-\varepsilon s} ds \right) + c \sum_{k=1}^{\infty} \mu_{k}^{2} \lambda_{k}^{2} \int_{0}^{t} |X_{\lambda}^{\alpha}(s) - X_{\lambda}(s)|^{2}_{-1} e^{-\varepsilon s} ds,$$

and for  $\varepsilon>0,$  large enough, we get after some calculation involving the Burkholder-Davis-Gundy inequality, that

$$\frac{1}{4} \mathbb{E} \sup_{t \in [0,r]} |X_{\lambda}^{\alpha}(t) - X_{\lambda}(t)|_{-1}^{2} e^{-\varepsilon t} \\
+ \mathbb{E} \int_{0}^{r} \int_{\mathcal{O}} \left[ \Psi_{\lambda}^{\alpha}(X_{\lambda}^{\alpha}(s)) - \Psi_{\lambda}(X_{\lambda}(s)) \right] (X_{\lambda}^{\alpha}(s) - X_{\lambda}(s)) e^{-\varepsilon s} d\xi ds \\
\leq c \mathbb{E} \left( \int_{0}^{r} |X_{\lambda}^{\alpha}(s) - X_{\lambda}(s)|_{-1}^{2} e^{-\varepsilon s} ds \right).$$

It is easily seen that

$$\left[\Psi_{\lambda}^{\alpha}\left(X_{\lambda}^{\alpha}\left(s\right)\right)-\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)\right]\left(X_{\lambda}^{\alpha}\left(s\right)-X_{\lambda}\left(s\right)\right)\geq\left[\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)-\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)\right]\left(X_{\lambda}^{\alpha}\left(s\right)-X_{\lambda}\left(s\right)\right),$$

 $\mathbb{P}-a.s.$ , since by the monotonicity of  $\Psi_{\lambda}$  we have that

$$\left(\Psi_{\lambda}^{\alpha}\left(X_{\lambda}^{\alpha}\left(s\right)\right)-\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)\right)\left(X_{\lambda}^{\alpha}\left(s\right)-X_{\lambda}\left(s\right)\right)\geq0.$$

We obtain that

(19) 
$$\frac{1}{4} \mathbb{E} \sup_{t \in [0,r]} |X_{\lambda}^{\alpha}(t) - X_{\lambda}(t)|_{-1}^{2} e^{-\varepsilon t}$$
  
(20) 
$$\leq c \mathbb{E} \int_{0}^{r} |X_{\lambda}^{\alpha}(s) - X_{\lambda}(s)|_{-1}^{2} e^{-\varepsilon s} ds$$

$$+\mathbb{E}\int_{0}^{r}\int_{\mathcal{O}}\left[\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)-\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)\right]\left(X_{\lambda}\left(s\right)-X_{\lambda}^{\alpha}\left(s\right)\right)e^{-\varepsilon s}d\xi ds.$$

We have also that

$$\begin{split} & \mathbb{E} \int_{0}^{r} \int_{\mathcal{O}} \left[ \Psi_{\lambda}^{\alpha} \left( X_{\lambda} \left( s \right) \right) - \Psi_{\lambda} \left( X_{\lambda} \left( s \right) \right) \right] \left( X_{\lambda} \left( s \right) - X_{\lambda}^{\alpha} \left( s \right) \right) e^{-\varepsilon s} d\xi ds \\ & = \left\langle \Psi_{\lambda}^{\alpha} \left( X_{\lambda} \left( s \right) \right) - \Psi_{\lambda} \left( X_{\lambda} \left( s \right) \right) , \left( X_{\lambda} \left( s \right) - X_{\lambda}^{\alpha} \left( s \right) \right) e^{-\varepsilon s} \right\rangle_{L^{2}(\Omega \times [0,r] \times \mathcal{O})} \\ & \leq \left| \Psi_{\lambda}^{\alpha} \left( X_{\lambda} \left( s \right) \right) - \Psi_{\lambda} \left( X_{\lambda} \left( s \right) \right) \right|_{L^{2}(\Omega \times [0,r] \times \mathcal{O})} \left| \left( X_{\lambda} \left( s \right) - X_{\lambda}^{\alpha} \left( s \right) \right) e^{-\varepsilon s} \right|_{L^{2}(\Omega \times [0,r] \times \mathcal{O})}. \end{split}$$

Since p > 2 we have that

$$\begin{aligned} & \left| \left( X_{\lambda} \left( s \right) - X_{\lambda}^{\alpha} \left( s \right) \right) e^{-\varepsilon s} \right|_{L^{2}(\Omega \times [0,r] \times \mathcal{O})} \\ & \leq C \left| X_{\lambda} \right|_{L^{p}(\Omega \times [0,r] \times \mathcal{O})} + C \left| X_{\lambda}^{\alpha} \right|_{L^{p}(\Omega \times [0,r] \times \mathcal{O})} \\ & \leq C \left( \int_{0}^{r} \mathbb{E} \left| X_{\lambda} \left( s \right) \right|_{L^{p}(\mathcal{O})}^{p} ds \right)^{1/p} + C \left( \int_{0}^{r} \mathbb{E} \left| X_{\lambda}^{\alpha} \left( s \right) \right|_{L^{p}(\mathcal{O})}^{p} ds \right)^{1/p} \end{aligned}$$

and by [[9], Lemma 3.1] and (16) we have

$$\left| \left( X_{\lambda} \left( s \right) - X_{\lambda}^{\alpha} \left( s \right) \right) e^{-\varepsilon s} \right|_{L^{2}(\Omega \times [0,r] \times \mathcal{O})} \leq C_{4} \left( 1 + \left| x \right|_{p}^{p} \right)^{1/p},$$

where  $C_4$  is independent of  $x, t, \lambda$  and  $\alpha$ .

On the other hand by  $\mathbf{H}_1$  and [[9], Lemma 3.1] we have

$$(21) \qquad |\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right) - \Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)} \\ \leq \left(\mathbb{E}\int_{0}^{t}\int_{\mathcal{O}}\left(|\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)|^{2}\right)d\xi ds\right)^{1/2} + \left(\mathbb{E}\int_{0}^{t}\int_{\mathcal{O}}\left(|\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)|^{2}\right)d\xi ds\right)^{1/2} \\ \leq C_{5}\left(\mathbb{E}\int_{0}^{t}\int_{\mathcal{O}}\left(|1+|X_{\lambda}\left(s\right)|^{m}|^{2}\right)d\xi ds\right)^{1/2} \\ \leq C_{6}\left(1+|x|_{p}^{p}\right)^{1/2}.$$

with  $C_6$  independent of  $x, t, \lambda$  and  $\alpha$ .

Using  $\mathbf{H}_3$ , and

$$\left(\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right) - \Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)\right) = \frac{1}{\lambda}\left(\left(1 + \lambda\Psi\right)^{-1}X_{\lambda}\left(s\right) - \left(1 + \lambda\Psi^{\alpha}\right)^{-1}X_{\lambda}\left(s\right)\right)$$

we get

(22) 
$$\Psi_{\lambda}^{\alpha}(X_{\lambda}) \to \Psi_{\lambda}(X_{\lambda}) \text{ as } \alpha \to 0, \text{ a. e. on } \Omega \times [0, r] \times \mathcal{O}.$$

We obtain from (21) and (22) via the Lebesgue dominated convergence theorem that

$$\left|\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)-\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\to0\quad\text{as }\alpha\to0.$$

Gronwall's lemma applied to (19) leads to

$$\frac{1}{4}\mathbb{E}\sup_{t\in[0,r]}\left|X_{\lambda}^{\alpha}\left(t\right)-X_{\lambda}\left(t\right)\right|_{-1}^{2} \leq \left|\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)-\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\left|\left(X_{\lambda}\left(s\right)-X_{\lambda}^{\alpha}\left(s\right)\right)e^{-\varepsilon s}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\right| \right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)} \leq \left|\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)-\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\left|\left(X_{\lambda}\left(s\right)-X_{\lambda}^{\alpha}\left(s\right)\right)e^{-\varepsilon s}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)} \leq \left|\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)-\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\left|\left(X_{\lambda}\left(s\right)-X_{\lambda}^{\alpha}\left(s\right)\right)e^{-\varepsilon s}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)} \leq \left|\Psi_{\lambda}^{\alpha}\left(X_{\lambda}\left(s\right)\right)-\Psi_{\lambda}\left(X_{\lambda}\left(s\right)\right)\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\left|\left(X_{\lambda}\left(s\right)-X_{\lambda}^{\alpha}\left(s\right)\right)e^{-\varepsilon s}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)} \leq \left|\Psi_{\lambda}^{\alpha}\left(x\right)-X_{\lambda}^{\alpha}\left(s\right)\right)e^{-\varepsilon s}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)} \leq \left|\Psi_{\lambda}^{\alpha}\left(x\right)-X_{\lambda}^{\alpha}\left(s\right)\right)e^{-\varepsilon s}\right|_{L^{2}\left(\Omega\times\left[0,r\right]\times\mathcal{O}\right)}$$

and finally we get that

$$\mathbb{E}\sup_{t\in[0,r]}\left|X_{\lambda}^{\alpha}\left(t\right)-X_{\lambda}\left(t\right)\right|_{-1}^{2}\to0, \text{ as } \alpha\to0, \quad \forall\lambda>0.$$

We can now come back to

$$\mathbb{E} |X^{\alpha}(t) - X(t)|_{-1}^{2} \leq 3 \left( \mathbb{E} |X^{\alpha}(t) - X^{\alpha}_{\lambda}(t)|_{-1}^{2} + \mathbb{E} |X^{\alpha}_{\lambda}(t) - X_{\lambda}(t)|_{-1}^{2} + \mathbb{E} |X_{\lambda}(t) - X(t)|_{-1}^{2} \right).$$

Given  $\varepsilon > 0$  we first choose  $\lambda$ , independent of  $\alpha$ , such that the first and the tierd terms are less then  $\frac{\varepsilon}{3}$ . Having fixed  $\lambda$  this way we can choose  $\alpha$  such that the second term is less then  $\frac{\varepsilon}{3}$  and finally we obtain

$$\mathbb{E}\left|X^{\alpha}\left(t\right)-X\left(t\right)\right|_{-1}^{2} \leq \varepsilon \text{ uniformly on }\left[0,T\right].$$

The proof of the main result is now complete.  $\blacksquare$ 

#### 3 Examples

 $1^{\circ}$  Let  $\Psi : \mathbb{R} \to 2^{\mathbb{R}}$  defined by

$$\Psi^{\alpha}(X) = |X|^{\alpha} \operatorname{sign} X, \quad 0 \le \alpha < 1.$$

Equation (7) is called in this case the stochastic fast diffusion equation and is relevant in plasma physics (see [2]).

The case  $\alpha = 0$  is relevant in stochastic models for self-organized criticality. The existence and longtime behaviors of solutions for equation were studied in [6], [7], [9], [14].

The extinction in finite time of solution for  $0 < \alpha < 1$  was studied in [8].

As a consequence of Theorem 2 we obtain:

**Corollary 3** Consider the solution  $X^{\alpha}$  to equation

(23) 
$$\begin{cases} dX^{\alpha}(t) - \Delta \left( |X^{\alpha}(t)|^{\alpha} \operatorname{sign} X^{\alpha}(t) \right) dt \ni \sigma \left( X^{\alpha}(t) \right) dW(t), & \text{in } (0,T) \times \mathcal{O} \\ |X^{\alpha}(t)|^{\alpha} \operatorname{sign} X^{\alpha}(t) \ni 0, & \text{on } (0,T) \times \partial \mathcal{O} \\ X(0) = x, & \text{in } \mathcal{O} \end{cases}$$

Then for each  $x \in L^p(\mathcal{O})$  and  $\alpha \to 0$  the corresponding solution  $X^{\alpha}$  to equation (23) is convergent in

$$C_W\left([0,T]; L^2\left(\Omega, \mathcal{F}, \mathbb{P}; H^{-1}\left(\mathcal{O}\right)\right)\right)$$

to the solution X to equations

(24) 
$$\begin{cases} dX(t) - \Delta(signX(t)) dt \ni \sigma(X(t)) dW(t), & in \quad (0,T) \times \mathcal{O}\\ signX(t) \ni 0, & on \quad (0,T) \times \partial \mathcal{O}\\ X(0) = x, & in \quad \mathcal{O} \end{cases}$$

*i. e.*,

$$\mathbb{E} |X^{\alpha}(t) - X(t)|^{2}_{H^{-1}(\mathcal{O})} \to 0 \text{ uniformly on } [0,T] \text{ as } \alpha \to 0.$$

Proof.

It is easily seen that  $\Psi$ ,  $\Psi^{\alpha} : \mathbb{R} \to 2^{\mathbb{R}}$  are maximal monotone graphs. Since  $\Psi^{\alpha}(X) = |X|^{\alpha} \operatorname{sign} X = |X|^{\alpha-1} X$  and  $\alpha < 1 \le m$  we have

$$\sup \left\{ \left| \theta \right| : \theta \in \Psi^{\alpha} \left( X \right) \right\} = \sup \left\{ \left| \theta \right| : \theta \in \left| X \right|^{\alpha} signX \right\}$$
$$\leq C \left( 1 + \left| X \right|^{m} \right), \quad \forall \quad X \in \mathbb{R}$$

We also have that

$$(1 + \lambda \Psi^{\alpha})^{-1} x \longrightarrow (1 + \lambda \Psi)^{-1} x, \quad \forall \lambda > 0, \quad \forall x \in \mathbb{R}$$

(for details see [1]).

The proof of the Corollary is now complete.  $\blacksquare$ 

**Remark 4** The limit equation (24) is related to the model of self-organized criticality under stochastic perturbation (see [9]).

 $2^{\circ}$  The diffusivity function  $\Psi: \mathbb{R} \to 2^{\mathbb{R}}$  of stochastic fast diffusion equation can also be written as

$$\Psi^{\alpha}(X) = |X|^{1-\alpha} \operatorname{sign} X, \quad 0 < \alpha \le 1.$$

In case  $\alpha$  is near 0, the corresponding equation can be regarded as a perturbation of stochastic heat equation.

By Theorem 2 we have that for each  $x \in L^{p}(\mathcal{O})$  and  $\alpha \to 0$  the solution  $X^{\alpha}$  to equation

$$(25) \begin{cases} dX^{\alpha}(t) - \Delta \left( |X^{\alpha}(t)|^{1-\alpha} \operatorname{sign} X^{\alpha}(t) \right) dt \ni \sigma \left( X^{\alpha}(t) \right) dW(t), & \text{in } (0,T) \times \mathcal{O} \\ |X^{\alpha}(t)|^{1-\alpha} \operatorname{sign} X^{\alpha}(t) \ni 0, & \text{on } (0,T) \times \partial \mathcal{O} \\ X(0) = x, & \text{in } \mathcal{O} \end{cases}$$

is convergent in  $C_W([0,T]; L^2(\Omega, \mathcal{F}, \mathbb{P}; H^{-1}(\mathcal{O})))$  to the solution X to the linear stochastic heat equations

$$\left\{ \begin{array}{ll} dX\left(t\right) - \Delta X\left(t\right) dt = \sigma\left(X\left(t\right)\right) dW\left(t\right), & \text{ in } \left(0,T\right) \times \mathcal{O} \\ X\left(t\right) = 0, & \text{ on } \left(0,T\right) \times \partial \mathcal{O} \\ X\left(0\right) = x, & \text{ in } \mathcal{O} \end{array} \right. ,$$

i. e.,  $\mathbb{E} \left| X^{\alpha} \left( t \right) - X \left( t \right) \right|_{H^{-1}(\mathcal{O})}^{2} \to 0$  uniformly on [0, T] as  $\alpha \to 0$ .

To conclude the second example, we just have to repeat the proof of the Corollary 3.

 $\mathbf{3}^\circ\;$  Let  $\Psi:\mathbb{R}\to 2^\mathbb{R}\;$  be a maximal monotone graph of the form

$$\Psi(X) = \begin{cases} \Psi_1(X), & \text{if } X < a \\ [\Psi_1(a), \Psi_2(a)], & \text{if } X = a \\ \Psi_2(X), & \text{if } X > a \end{cases},$$

where  $\Psi_1$  and  $\Psi_2$  are continuous and monotone functions satisfying the assumption (6). We define the approximation

$$\Psi^{\alpha}\left(X\right) = \begin{cases} \Psi_{1}\left(X\right), & \text{if } X < a - \alpha \\ \Psi_{1}\left(a - \alpha\right)\frac{a + \alpha - X}{2\alpha} + \Psi_{2}\left(a + \alpha\right)\frac{a - \alpha - X}{-2\alpha}, & \text{if } a - \alpha \le X \le a + \alpha \\ \Psi_{2}\left(X\right), & \text{if } a + \alpha < X \end{cases}$$

Note that we have the approximation of a maximal monotone graph by continuous and monotone functions.

Using Theorem 2 we can prove the following corollary.

**Corollary 5** For each  $x \in L^{p}(\mathcal{O})$  and  $\alpha \to 0$  the corresponding solution  $X^{\alpha}$  to equation

(26) 
$$\begin{cases} dX^{\alpha}(t) - \Delta \Psi^{\alpha}(X^{\alpha}(t)) dt = \sigma(X^{\alpha}(t)) dW(t), & in \quad (0,T) \times \mathcal{O} \\ \Psi(X^{\alpha}(t)) = 0, & on \quad (0,T) \times \partial \mathcal{O} \\ X(0) = x, & in \quad \mathcal{O} \end{cases},$$

is convergent in  $C_W([0,T]; L^2(\Omega, \mathcal{F}, \mathbb{P}; H^{-1}(\mathcal{O})))$  to the solution X of equations

$$\begin{cases} dX(t) - \Delta \Psi(X(t)) dt \ni \sigma(X(t)) dW(t), & in \quad (0,T) \times \mathcal{O} \\ \Psi(X(t)) \ni 0, & on \quad (0,T) \times \partial \mathcal{O} \\ X(0) = x, & in \quad \mathcal{O} \end{cases},$$

*i.* e.,  $\mathbb{E} |X^{\alpha}(t) - X(t)|^{2}_{H^{-1}(\mathcal{O})} \to 0$  uniformly on [0,T] as  $\alpha \to 0$ .

**Proof.** Since  $\Psi_1$  and  $\Psi_2$  satisfies assumption (6) of  $\mathbf{H}_1$  and for all  $x \in \mathbb{R}$  we have  $\lim_{\alpha \to 0} \Psi^{\alpha}(x) = \Psi(x)$ , the proof of the Corollary 5 is immediate.

As a particular case we have the Heavside step function

$$H(x) = \begin{cases} 0, & \text{if } x < 0\\ [0,1], & \text{if } X = 0\\ 1, & \text{if } X > 0 \end{cases}$$

which is relevant in the anomalous (singular) diffusion equation of the type

$$dX(t) = \Delta \left( H \left( X(t) - x_c \right) \right) dt + \sigma \left( X(t) \right) dW(t),$$

with  $x_c$  the critical value (see [9]).

Another particular case is

$$\Psi(X) = sign X = \begin{cases} \frac{X}{|X|}, & \text{if } X \neq 0\\ [-1,1], & \text{if } X = 0 \end{cases}$$

which as mentioned above is relevant in the stochastic models for self-organized criticality.

#### References

- H. Attouch: Families d'operateurs maximaux monotones et mesurabilité, Ann. Mat. Pura ed Appl., t. 4, 120, 35-111, 1979.
- [2] D. G. Aronson: The porous medium equation, Lecture Notes Math Vol 1224, Springer, Berlin, 1-46, 1986.
- [3] V. Barbu, Analysis and Control of Infinite Dimensional System, Academic Press, 1993.
- [4] V. Barbu, Nonlinear semigroups and differential equations in Banach spaces, Noordhoff International Publishing, Leiden 1976.
- [5] V. Barbu, V. I. Bogachev, G. Da Prato and M. Röckner, Weak solution to the stochastic porous medium equations: the degenerate case, J. Functional Analysis, 235, (2), 430-448, 2006.
- [6] V. Barbu, G. Da Prato and M. Röckner, Existence and uniqueness of nonnegative solution to the stochastic porous media equations, Indiana University Math. Journal, 57, 187-212, 2008.
- [7] V. Barbu, G. Da Prato and M. Röckner, *Existence of strong solution for stochastic porous media* equations under general motonocity conditions, Annales of Probability, (to appear).
- [8] V. Barbu, G. Da Prato and M. Röckner, Finite time extinction for solution to fast diffusion stochastic porous media equation Comptes Rendus Mathematique, 347, (1-2), 81-84, 2009.
- [9] V. Barbu, G. Da Prato and M. Röckner, Stochastic porous media equations and self-organized criticality, Comm. Math. Physics, 285, (3), 901-923, 2009.
- [10] H. Brezis Analyse Fonctionnelle. Theorie et Applications, Masson, Paris 1983.
- [11] H. Brezis Operateurs Maximaux Monotones et Semigroupes de Contractions dans un Espace de Hilbert, North Holland 1973.
- [12] G. Da Prato and J. Zabczyk, Stochastic equations in infinite dimensions, Cambridge University Press, 1992.

- [13] C. Prevot and M. Röckner, A concise course on stochastic partial differential equations, Monogrph, Lecture Notes in Mathematics, Springer, 2006.
- [14] J. Ren, M. Röckner and Feng-Yu Wang, Stochastic generalized porous media and fast diffusions equations, J. Differential Equations 238, no. 1, 118-152, 2007.